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1. The test-retest method is a type of : 1. CI'{T&TUT—QT-[: T fafy yeR ?

(A)  Validity (A) e H=

(B)  Reliability B)  fsaEEar &
(C)  Both (A) and (B) C) 3t (A &R (B)
(D) None of these D) T 9 B Tl

2. Who gave the concept of mental age ? 2. RS g AT <l gfcrare feham

(A) Binet feem 7
) =
(B) Simon
B)  WEAT
©) Termon ©) T
(D)  Both (A) and (B) D) @t (A) 3R (B)
3. Psychological testing is a tool by which : 3. TG TR T IUERST & Foree
(A)  score is awarded an ¢
(B)  The attribute is measured (A) 3 wE R o 8
(C)  There are presented in the (B) Qe b IO fRET S ®
quantitative (@) S &9 | qEa fepa T ®
(D)  None of these D) T § %5 &l
4. When there is a straight line relation between 4. S A T > T T TH Qe @r |
two variables, then it is called : BT %, @ 98 e &
(A) Normal relation (A) AN 95g
(B) Zero relation (B) LI =g
(9] Linear relation (®) T Ty
(D) Al of the above D) SWE gt
d. The magnitude of coefficient of correlation 5 BESIESR {[“1135 # fowaR 2 ®
s A 0T 13 T
(A) Between 0 to 1
(B) More than 1 ® IR
€ Between -1 to +1 (©) 18+ % T
D) Less than 1 D) 19 34
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10.
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The formula to know 1.Q. is :

(A) IQ= Mj: x100
| 1Q= f/{‘; x 100
© 1Q= %x CA
(D) IQ = %x MA

Which factor is measured by Raven
Progressive Matrices?

(A) Spearman's 'S' factor

(B) Thurston's spatial factor

(®) Guilford's content

D) Spearman's 'G' factor

Two persons are not equal in the society.
(A) True

(B) False

Chi-square test measures the effect of ......on
other variable simultaneously.

(A) One variable

(B) One group

(®) One or more group

(D) More than one variable
Mann-Whitney U-test is used when :

(A) the number of two groups are equal
(B) groups are normally distributed
(®) the number of two groups are

unequal

D) None of these

10.
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A 1Q= r %100
CA
(B) IQ_MAxIOO
MA
(C) IQ_WxCA
CA
(D) IQ_@xMA
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1. ....Is found in psychological tests. 1. TasTive aheer § o S ¥
(A)  Reliability @A fasaEEar
(B)  Validity B)  degam
(C)  Both (A) and (B) C) 3t (A R (B)
(D) None of these D) T q B Tl
12. Height and weight are positively correlated.  12. \;t{ls: AR T TS &Y F TeTEs
This means that : 2l Dl HAT T
(A) As height increases, typically (A) S ﬁ]’% g 'g’i%s? =Kl %, AR
weight decreases TR g9 gedl §
(B) In general the taller some one is, B) AT R T g e &
the thinner they are = %, g€ I 2 I Bl B
©) In general the shorter some one is, © g dR W o R st
the heavier they are 21T & a8 I & aorl el ©

D) There is no relationship between

D) aR AR oM ¥ HIE gryg &

height and weight 2T B
13.  Rhois: 13, Rho WRRIG &Y & :
(A) Gain's method (A) T fafy
(B) Spearman rank difference method (B) N Fife oy fafy
C) Tetrachoric correlation (@) E@Eﬁﬁﬁﬁ SESNISR
D) Pearson's product moment method D) FIUEESE | NANR G%TEL”‘[ fafar
14, Which of the following is the purpose of 14,  F=ifciRad & & BN TGN TR0
psychological testing? P IR &7
(A)  Prediction A GEwE
(B) Guidance (B) REXE]
©) Classification and Selection © TR TG T
(D) Al of the above D) S a4t
15.  Reliability is the quality of : 15, frsa@ir o7 B B
(A)  Test (A IUET B
(B) Test scores B) Q&7 ATAihi T
(&) Test examiners © Q&0 e B
(D)  None of these (D) T 9§ Hig &
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16.

17.

18.

19.

20.
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When a test measures the same thing for

which it is intended to measure, what is it

called ?

A) Reliability
(B)  Validity
(®) Norms

(D) All of these

When did Binet and Simon measure their
first intelligence test?

(A) 1908

(B) 1905

) 1916

(D) 1906

There are 31 cards in TAT.
(A) True

(B) False

Who developed Rorschack Ink Blot test?

A Hermann Rorschach

(A)

(B) Allport

(®) Cattel

D) None of these

Allport gave the first definition of
personality:

(A) In 1930

(B) In 1935

€ In 1937

(D) In 1938

16.

17.

18.

19.

20.
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S B TUECT IE =S B AT °
Rreer A SHE SR ©, S§ Hl
AN

(A TageEE

B)

€ Hr®

D) & & |

foreT e SR | R A9 & o HqeE

Tl & T He HOT o
(A) 1908

B) 1905
) 1916

D) 1906

TATH 315 8 &

A T

(B)  oTH™

6 SRl T GeoT & AT e
fepam?

A) T A

(B) ST

© e

0) 3 A IR T

MAUIE ERT AR bl TIH TR &
R

A) 19307

B) 19357

C)  1937#

D) 19387



21. The mean of the standard score is always :  21.
(A) zero
(B)  +1
C -
(D)  +2.58
22. Product moment method is depicted by : 22.
(A) P
(B) R
C r
G x
23. Who developed 'rank difference' method ?  23.
(A) Pearson
(B) Spearman
) Tailor
D) Galton
24, Psychological test : 24,
(A) there is a measure of personality
(B) there is a measure of intelligence
€ there is a measure of achievement
D) is to measure objectively one or
more aspects of a total personality
by meaningful responses
25. When a test measures only what it is  25.
intended to measure, then that test is :
(A) Unreliable
(B) Norm
(C)  Valid
(D) Reliable
PSYCHOLOGY/A090201T-C/305 (7)
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26.

27.

28.

29.
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Normal probability curve is called :
(A) Gaussian curve

(B) Galton curve

(®) Simon curve

(D) Cumulative frequency curve

“Girls in comparison to boys, will execute
more work.” Which type of hypothesis is
this?

(A) Null hypothesis

(B) Positive hypothesis
(®) Negative hypothesis
D) Conceptual hypothesis

Practically the range of normal probability

curve is :

(A)  —1to+1
(B) —2to+2
(C) -3to+3

D)  —50to+ .50

Which of the following will give a more
“accurate” representation of the population
from which a sample has been taken ?

A A

convenience sampling

large sample based on

(B) A small sample based on simple

random sampling
(®) A small cluster sample

D) A large sample based on random
sampling

26.
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D) -50% +50
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30. Wechsler Intelligence scale is a : 30.
(A) Age scale
(B) Point scale
C) Development scale
D) Service scale
31. By which a perfect positive correlation is  31.
exhibited ?
(A -099
(B) +1.00
€  +0.99
O)  -1.00
32. Who developed TAT test ? 32.
(A) Allport
(B) Cattel
€ Bandura
D) Murray and Morgan
33. Know the credit for the Projective method:  33.
(A) Hermann Rorschach
(B) Freud
©) Edward
D) None of these
34. Who developed the concept of intelligence  34.
quotient ?
(A) William Stern
(B) Terman
©) Siman
D) Binet
PSYCHOLOGY/A090201T-C/305 (9)
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35.

36.

37.

38.

39.

PSYCHOLOGY/A090201T-C/305

When each member of population has an
equally likely chance of being selected, this
is called :

A) An equal probability selection method
(B
C
(

D) Snowball sampling

Quota sampling

Non-random sampling method

Which of the following pairs will be at the same
point in the normal probability distribution?
(A) Mean and range

(B) Mean and median
(9] Quartile and range
D) Median and quartile
The value of 't ratio is :

A
B

C

(A) always negative

(B) always positive

(®) always zero

D) positive as well as negative

There are 15 standardized card in Rorschach
Ink Blot test.

(A) True
(B) False

When two variables does not effect each
other is called :

(

=

Zero correlation

B Negative correlation

)
(B)
(C)  Curvilinear correlation
(D)  Positive correlation
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40. Which is a Non-parametric statistics ? 40.
(A) Standard Deviation
(B) Chi-Square test
C) t-Test
D) Mean
41. What is relation of reliability of the test ? 41,
(A) From Consistency in Scores
(B) From New Scores
C) From Test
D) From Evaluation
42. Wechsler-Bellevuc's Intelligence Scale,  42.
1939 was used to measure intelligence
of :
(A) Child
(B) Adult
©) Both Child and Adult
D) None of these
43. Binet-Simon Scale, 1905 is : 43.
(A) A Individual Intelligence test
(B) Performance Intelligence test
C) Group Intelligence test
D) None of the above
44, The word "Personality” is derived fromwhich 44,
Latin word ?
(A) Persona (B) Persena
C) Personic D) Persenia
45. Which of the following can not be included 45,
in the method of determining the reliability?
(A) Test-retest method
(B) Split half method
C) Kuder- Richardson formula
D) ltem-Total Correlation method
PSYCHOLOGY/A090201T-C/305 (11)
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47.

48.

49.
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Non-parametric statistics is called :
) Normal distribution statistics
) Distribution free statistics

) Descriptive statistics

D) None of these
Garret

)
) Karl Pearson
) Fisher

D) Freguson

) Sample is large

) Sample is normally distributed

) All observation are independent
D) There should be equal variance

Which one of the following is needed to
deduce the correct meaning from the scores
obtained on a test ?

(A) Norms

B) Good Reliability
© Good Validity

(

D) Good Item Validity

Which one of the following is the most popular

method of determining the reliability?
A Split half reliability method
B
C
D

(
(
( Flanagan formula
(

)
) Rulon formula
)
)

Kuder-Richardson formula
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51.

52.

53.

54.

95.
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What are the functions of measurement? 51.

(A) Class division

(B) Choice of teaching methods
C) Effective guidance

D) All of the above

Which is the correct meaning of 52

measurement?

(A) Measurement means assigning
numerals according to some rules

(B) Measurement means to measure
something correctly

C) Measurement means assigning of
numerals

D) Measurement means assigning

numerals arbitrarily

Descriptive statistics is associated with : 93.

(A) Regression
(B) Estimation
C) Presentation of data

D) Statistical inference

The mode of the following number is : 54.

4,5,8,5,4,3,5,3,3,54,10

(A 4
B 10
€ 5
o 3

How much is the ratio of the length of the ~ 55.

x-axis and the y-axis in the graph?

A 2:3
B) 34
€ 2:2
O) 4:3

(13)
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56.

of.

58.

99.

60.

61.
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From which Latin word does the word
statistics originate?

(A) State

(B) Status

(@) Statista

D) None of these

Formula used to compute mode is :
(A) 3 median — 2 mean

(B) 3 median + 2 mean

(®) 4 median — 2 mean

D) 2 median — 3 mean

The skewness of normal probability curve

will be :

(A) Positive
(B) Negative
(®) Zero

D) +1.00

The mean of the following data will be :
5,8, 15,18, 14

A) 11 (B) 13

© 15 D) 12
The purpose of sampling is :

(A) Hypothesis testing

(B) To reduce sampling variance
(®) Both (A) and (B)

(D) None of these

Environment relevant variable is a type of

............... variable.

(A) Quantitative variable
(B) Type-E variable

(®) Extraneous variable
(D) Qualitative variable

56.
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62.

63.

64.

65.

66.
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In correlational studies variables are studied  62.

in terms of :

(A) Their nature

(B) Their dependency
C) Significance level

D) Their relationship

What is studied in statistics? 63.

(A) Descriptive

(B) Qualitative

C) Numerical

D) All of the above

The formula of short method or assumed  64.

mean to find the mean is :

" M=L+(N/2)_F><C.I.
F
(B) M=AM.+ (&j xC.L
N
> fd
M=AM.+—
© N
D) M = 21fd x C.L.
t-test is introduced by : 65.
(A) Galton

(B) Garrett
C) Gossett

D) Guilford

The median of the following data is : 66.
6,8,12,9, 14

A) 8

(B) 12

© 9

D) 14

(15)

HETE ST § =R 1 STHIT
oy ¥ fn o R

A T @ b
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(B) M=AM.+ ( Z;dj xC.L

a2t

©) M—AMA<N

(D) m=2M cr

-l e a7 o fhar T 87
A T

B) e

©  He
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6,8,12,9, 14

A 8
B 12
€ 9
D 14
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68.

69.

70.
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The mode of the following ungrouped  67.

data is :
3,4,2,1,7,6,6,7,5,6,3,9,5
A) 5

(B) 7

© 8

D) 6

The vertical line and horizontal line of graph ~ 68.
is known as :

(A) Line

(B) Curve

© Axis

(D) None of these

Formula is used to compute significant  69.

difference by t-test :

Ml B M2
(A) SE,,
M; -M,)
SD
M, +M,)
© s5

B)

M; +M,)
® B,

In the frequency distribution, the number  70.

which is asked most number of time is

called :

(A) Mean

(B) Median

(®) Mode

(D) All of the above

(16)

1T
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72.

73.

74.

75.
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Psychological assessment is often said  71.

to:

(A) Psychometrics

(B) Intelligence

€ Situationism

D) Individual differences

In which of the following scales are all the — 72.

three basic properties such as magnitude,

equal interval and absolute ratio

incorporated?

(A) Nominal scale

(B) Ordinal scale

C) Interval scale

(D) Ratio scale

...... is the measure of Central Tendency. 73.
(A) Mean

(B) All of these

€ Median

D) Mode

Non-parametric statistics is called : 74.
A Distribution free statistics

B
C

D) Formula free statistics

)
) Normal distribution
)

Descriptive statistics

(
(
(
(

Which is the highest level of measurement? ~ 79.

(A) Nominal scale
(B) Ratio scale

€ Interval scale
D) Ordinal scale

(17)
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76.

7.

78.

79.

80.

PSYCHOLOGY/A090201T-C/305

There are.......types of observation method.  76.

(A) Four

(B) Two

(®) One

(D) Three

Types of variables are : 77.

(A) Dependent variable
(B) Independent variable
(®) Extraneous variable

(D) All of the above

Which is the most important quality of  78.

experimental research?

(A) Manipulation of variable
B) Randomization

(9] Generalization

D) Standardization

Variable means : 79.

(A) Changeable in nature
(B) Consistency in nature
(®) Scientific in nature

D) Different in nature

Histogram is called : 80.

(A) Histo picture
(B) Full picture
(®) Incomplete picture

D) All of the above

(18)
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81. In observation, the observer studies the  81.
behaviour of individual from a distance is
called :
(A) Natural observation
(B) Participant observation
€ Non-participant observation
D) Controlled observation
82. is a type of variable which is  82.
controlled by the experimenter.
(A) Behavioural variable
(B) Discrete variable
€ Independent variable
D) Continuous variable
83. Which is the method of controlling  83.
variables?
(A) Balancing method
(B) Counter balancing method
C) Randomization method
D) All of the above
84. Function of hypothesis is : 84.
(A) Giving direction
(B) Collection of data
C) Giving solution
D) Sample selection
85. The meaning of significant at 0.01 level is:  85.
(A) Also significant at 0.05 level
(B) Not significant at 0.05 level
C) Also significant at 0.001 level
D) Not significant at any other level
PSYCHOLOGY/A090201T-C/305 (19)
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86.

87.

88.

89.

90.

PSYCHOLOGY/A090201T-C/305

‘A testable statement of a potential
relationship between two (or more)
variables.” Whose statement is this?

(A) D. Amato

(B)

C) Kerlinger
D) Edward

In research area, which hypothesis is

Mcguigan

appropriate ?

(A) Positive hypothesis
(B)

€ Null hypothesis

D) Conceptual hypothesis

Negative hypothesis

Extraneous variable affects :

(A) Dependent variable

(B) Independent variable

€ Relevant variable

D) Stimulus variable

The method used for testing the significance
of difference between two means (when
sample size is small) is :

(A) Mean

(B)
€ Mean deviation
D) t-test

In normal probability curve, the cases fall

Chi-square

between M +1c is :

A 60%

(B)  64.56%
(C)  68.26%
D)  54.68%

86.

87.

88.

89.

90.
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91.

92.

93.

94.

95.
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Correlation study is a type of : 91.
(A) Empirical study

(B) Survey study

C) Theoretical study

D) Observational study

What is the frequency polygon? 92.
(A) Straight

(B) Zig-zag

©) Slant

D) None of these

Which of the following is not related to  93.

Central Tendency?

(A) Mean

(B) Mode

) Standard deviation
D) Median

Observation is a : 94.

(A) Quantitative method
(B) Experimental method
©) Qualitative method

D) Correlational method

How many levels of psychological  95.

measurements are there?
A
B

(®)
a AW N

(A)
(B)
©
D)

D

(21)
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96.

97.

98.

99.

100.

PSYCHOLOGY/A090201T-C/305

Quota sampling is a type of :
(A
B

Random sampling

(@)

Semi-probability sampling

)
) Non-probability sampling
)
D)

(
(
( Mixture of non-probability and semi-
probability sampling

Mode is a :

A
B
C

(A) Middle value
(B) Middle most value
(®) Most frequent value
(D) None of these

When there is an associative relationship

between the variables are called :

(A) Correlation

(B) Mean

(®) Analysis of variance
D) None of these

Formula used to compute mean is :

> X > X?
WX ® =

JEX >X
o 5 0O 5

In normal probability curve, the value of

coefficient of kurtosis is :

(A) Zero
(B) 457
(€) 263
(D) 1.42

96.

97.

98.

99.

100.
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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